
119. An auto insurance policy will pay for damage to both the policyholder’s car and the other 

driver’s car in the event that the policyholder is responsible for an accident.  The size of 

the payment for damage to the policyholder’s car, X, has a marginal density function of 1 

for 0 < x < 1 .  Given X = x, the size of the payment for damage to the other driver’s car, 

Y, has conditional density of 1 for x < y < x + 1 . 

 

 If the policyholder is responsible for an accident, what is the probability that the payment 

for damage to the other driver’s car will be greater than 0.500 ? 
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